addazy-i
23th of june CHSL Reasoning

Directions (1-4): Select the related word/letters/number from the given alternatives.

T o et § & wrafera orsa/avi/aEaT w1 4T F1.

Q1. Ganga: India:: Nile:?

T AT ;TS - ?

(a) Pakistan/  TTfREqTT

(b) Egypt/ forer

(c) America /3r8 =T

(d) United Kingdom/ FAT=<E fomrew

Q2.RM:XG::ER:?
(@) PK
(b) LK
(c) KL
(d) PL

Q3.ET:VG::NO:?
(d) IM
(b) MI
(c) ML
(d) LM

Q4.97:63::67:7
(a) 38
(b) 56
(c) 42
(d) 45

Q5. A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

T FITH & gohs I 7S L 99 TR @ s & = gartar mar &, A Re @ R 8 o fifvw e s
X T e T T TR,

Dl fa | [<

(a)
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(b)

©)
(d)

Q6. A word is represented by only one set of numbers as given in any one of the alternatives. The
sets of numbers given in the alternatives are represented by two classes of alphabets as shown in
the given two matrices. The columns and rows of Matrix-I are numbered from O to 4 and that of
Matrix-1l are numbered from 5 to 9. A letter from these matrices can be represented first by its row
and next by its column, for example, ‘N’ can be represented by 21, 67 etc. and ‘R’ can be represented
by 66, 57 etc. Similarly, you have to identify the set for the word ‘METER'.

T 5% &l Fad T G&AT I T ILATAT ST Ghar g seT o = T &, ffeeat # Ry 1o gegms & 9 < qort
& T TEqa Fhe s @ st & e e o dfewe # e g dfmm- 1w 0 ¥ 4 99 der & S € i)
ST TR AT 1137 57 9 T AT & TS 3. Woh q0F il Tgel STeht Tin gTer Fhe SHeh Tav gy q9iaT o
AT B, I ‘N’ #¥ 21, 67 &fe. ;X ‘R’ & 66, 57 A T I€THAT ST T § ST THIC AT AT
‘METER’ % foIq §&T 9 919 %7 &.

Matrix -1 Matrix - 11

o123+ slel72]18]>o
0 J R|A]|N B 5 H|M]|R 1 T
1 lwluln]lr]|L s [ M|rRIN]|T]P
2 E N R G ] 7 C S x E U
sIn]ylrp|lo]|m 8|s|N|s|M]|s
s |eE|lT|o]|F]|aA 9(M|B|lE|Q]|U
(a) 65, 40, 68, 99, 66
(b) 88, 20,59, 97,13 addazy1
(c) 56, 78, 41, 40, 67 & o test series

(d) 95, 41, 40, 68, 57

g SSC CGL TIER-II
B¢ - QUANT & ENGLISH

Q7. Introducing a boy, Sia says, "He is the grandson of my father.
I have no siblings." How is Sia is related to the boy?

TF ASF B AT 37 g, Ry weeft €, g A% v Feww 1 RS COMBO
AqTE-ag Tl 31" T w=s ¥ o wefda 82

() Aunt/sTiEt 40 TOTAL TEST

(b) Grandmother/¥saa< « 20 Quant Full Length Mocks
(c) Mother/HTaT * 20 English Full Length Mocks

(d) sister /5=

2 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda?247.com



Q8. If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?

If X@r MN T2 T i T@T 91, a Rt & & #9191 3w B yfess & o sfa @efte

524

()

(b

AR

(©)

&

(d)

B3

Q9. Identify the diagram that best represents the relationship among the given classes.
S ARG &I IZAT ST T 7T 971 % 1= G o =aw viafAieeT w5 g

Europe, Italy, Delhi, Rome

()

®0

P
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Q10. A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

T FITH & gohs I AIE 9 TR @ s & = gertar wmar &, A Re @ R & o fifvw e s
X T e T T e,

VP Ly

@

-

(b)

i

(©)

r

(d)

il

Directions (11-14): Select the related word/letters/number from the given alternatives.

Ru o et ¥ Gt srea/at/EeaT &7 3T o,

11.Hirakund : Mahanadi : : Tehri Dam : ?
gge; ggMar ;; fegdrater: ?

(a) Damodar/zTaTET

(b) Bhagirathi/ \arfizeft

(c) Yamuna/aq-T1
(d) Son/aT=

Q12. LG:WM::DC:? SSC CGL TIER'"
o PRIME

(c) GE

+
(@)Ll 85+ Total Tests

v 15 Tier Il Quant Previous Years' Papers

Q13. IM:RZ::HF:? 14 Tier Il English Previous Years’ Papers
(a) MP v"20 Advance Maths for TIER-II
(b) OK v 20 SSC CGL Tier Il Quantitative Aptitude
(¢) PL v 20 SSC CGL Tier Il English Language

—BILINGUAL
(d) QR
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Q14.16:40::20:?
(a) 29
(b) 21
(c) 50
(d) 60

Q15. Find out the odd word/letters/ number/number pair from the given alternatives.

R 1o et ¥ ¥ vy asa/avt/aedT F1 99 fifoy
(a) Mohammad Azharuddin/ FTgHE ASTgeald

(b) Sunil Gavaskar/ T TTEEHT

(c) Dhyan Chand/&am==g

(d) Yuvraj Singh/ Ta<rsr g

Q16. Find out the odd word/letters/ number/number pair from the given alternatives.
e 1o et ¥ ¥ vy sg/avt/aedT F1 99 fifoy

() EV

(b) GT

(©Q

(d) MO

Q17. Find out the odd word/letters/ number/number pair from the given alternatives.
R U et ¥ ¥ vy rsg/avt/aedT FT1 999 fifory

(a) 4246

(b) 8314

(c) 9546

(d) 7284

Q18. Find out the odd word/letters/ number/number pair from the given alternatives.
o 1o et ¥ ¥ vy ersg/avt/aeqT F1 99 fifoy

(a) 78,26

(b) 19, 20

(c) 20, 40

(d) 36, 12

Directions (19-20): A series is given with one term missing. Choose the correct alternative from the
given ones that will complete the series.

= T ST <t TS § Sad TE ug 991q 8. [Ru T Gwen |§ 4 a5t Fwe a1 S S s@«r Q@
HG,

Q19. Constable, Head constable, ?, Inspector

(a) Deputy Superintendent of Police/ Iferer 3T aTeftersh
(b) Superintendent of Police/ T srefter

(¢c) Sub-inspector/ TETI* A{Ters

(d) Assistant Commissioner of Police/ HgTaa qfeTe 3<h
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Q20.3,6,9,36,41,?
(a) 244
(b) 225
(c) 246
(d) 410

Directions (21-24): Find out the odd word / letters / number / number pair from the given
alternatives.

R 1o et ¥ ¥ vy rsg/avt/d4=qT FT T9T T

Q21.(a) Daman and Diu/ T8 3T <19

(b) Puducherry/ Tg={t
(c) Delhi / fae=tt

(d) Chennai/ ==1%

Q22. (a) POR
(b) MEF
(c) TUD
(d) STD

Q23. (a) 636
(b) 749

(c) 864

(d) 989

Q24. (a) 1728
(b) 2197

(c) 3266

(d) 2744

Directions (25-28): A series is given with one term missing. Choose the correct alternative from the
given ones that will complete the series.

T SE@HT &1 T2 g FSaH T < I97q 8 Ui 7 U e 7 € 39 fFawed o7 997 FAT € S 59 s@dr Al
T FEM?

25.Jupiter, ?, Uranus, Neptune

sftex,? , T, Jo=g7 addaz41
2 ! ‘ 3 test series
(a) Saturn J e T’ Previous Years' Papers of 2011-2018

(b) Earth/ gt

(c) Pluto/ =T ©) SSC CGL TIER-II

(d) Mercury/ I T8 & - QUANT & ENGLISH
COMBO

Q26. TP, UQ, WS, 2V, ?

(a) EY 29 TOTAL TEST

(b) Dz * 15 Quant Previous Years Papers

(c)CY * 14 English Previous Years Papers

(d) cz
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Q27.RP,DM, SQ, CL, TR, ?
(a) Al

(b) US

(c) DM

(d) BK

Q28.-1,1,4,9,16,?
(a) 24
(b) 27
(c) 26
(d) 36

Q29. In the following question, two statements are given each followed by two conclusions | and 11.
You have to consider the statements to be true even if they seem to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

= few 3wy ), = v Ru e § e = @ e | iR 1 R e €L sraeRtr R T et S ae A
& Wl g1 F gaSTa a2t & Fer wfhia g 2. e sruar et s g ak R feeaf A g fwar kg
T FHAT AT ATEALT HLAT &

Statements: (1) Some notes are coins./&4: (1) & i 5 &

(1) No coin is a card./)I1( FT< g w1 981 §

Conclusion: (1) All cards can be notes./fAewd: (1) Tsft FT< T BT T &

(1) Some notes are neither coins nor cards./)II( & 7T 7 T #g § o T &l F1e

(a) Conclusion | follows /fATFT | SITA HTAT &

(b) Conclusion Il follows/fAeT |1 &0 FXAT &

(c) Neither I nor Il follows/ 7 @ | 3L I 1 STTEET_F20T &

(d) Both I and 1l follows/ | 3T 11 TSI H%9T ¥ &

Q30. If 27th December 2009 was a Thursday, then what day of the week was it on 1st March 2010?
gfe 27 fREw< 2009 TTEATT 9T, qT 1 ATH 2010 T THTE HT i a7 T 972

(a) Thursday /AT&ATX
(b) Friday  /e[RaTX
(c) Sunday /TfAET™
(d) Monday/qTHaTT

SSC CGL TIER-II
PRIME

85+ Total Tests

v 15 Tier Il Quant Previous Years’ Papers
v 14 Tier Il English Previous Years’ Papers
v 20 Advance Maths for TIER-II

v 20 SSC CGL Tier Il Quantitative Aptitude
v 20 SSC CGL Tier Il English Language

BILINGUAL
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